80 FROEE 6 QI A H

Mt %58 L 7= R0 IR

2%

® EEPEXJk cm
IEEalEE XS cm O*H

KER :

20cm

#15 :

@ - 3cm N [&EFE -

#15 :

® REE :

9dcm

#15 :

Y
OF = e

('

ap 7
o

SYhY

o |



&5 PRI 8 =% A :

i % 28 L 7 ko iR

2% A

CROED L S RIAUEDEBEEERDHIL L I,

® Ao¥FEliz |22 = 6 cm
KBRIEFR H cm DOFH

E@iE: 6 X 6 X3, 14+ 2
= 6X6+2X3.14

20cm = |18x3.14
= 56.52
S em ##&: 56.52X20 = | 130.4
sx: | 130.4ens
@ ~ 3em EEH: 2 X 2 X314+ 4
" | = 2x2+4x3.14
= | X3.14
= 3.14
W 314X 3 = q.42
s2: 942 e
® EE®: 5 X 5 X3.14+2
= 25x3.14% 2
9em = 25X 1.57
= 39.25

htE: 39.25X 9 = 353.25
%22:353.25cm3

o w8 53 WITBTERYAY




